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PART : CHEMISTRY

1. 002 M THCDOH has specle conductance, 1K= 8 ® 10-2 5 crme'. Ak given Rimiiling mddsr conduciancs
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fins.

fin.

M= 3 W L
AR T
I'a‘n i By
CFSE=(-1.2%086) A,
- L8 A&
[Fe{H: Ok
DN of Fe = 3 [W.F.L) = 3¢
":-1'1' vy
CFSE=D

Assertion : Higher energy reouinsd for corvrension of Mg o Mg then fhal for kg lo Ko- .
Reason & Mg’ haes small size and more charge.
(1) Bath Assertion and Reason are corec! and Reason i e cofrecl saplanation of Assertion.

{2} Both Assertion and Reason are comect sad Reason i nal Ihe correct axplanation of Assertion
(3} Reasan is corect and Assertion is nol comect

(4} Assertion is corect and Reason is nol correct

i2)

My ol g

i IE
Mg — s Mg s g
The second jondaban enfhalpy will be highse Buan thal of Tirstibrdzaion epllalpy. Due la more efleclive

nuchear change.

List 1 List Il (A1l voheme are af 3TP)
0 16 pram CHig) (8] 112 ®.
(W) 2 Wk Nai) fl) 56 oram
i i} %Mﬂ: Haiig) {cp32 gram
iiv) %]‘ﬂlﬂ Siah idi 24 W
iderilily Ihe comect malch,
{1} kd, b, 8, hee 13y, i, e, ed
(30 i-d, iea m-h, i i) i<l ii-h, we v

{1}
: - 16
(1) Mo al ke of THa = e 1 bbale

Volumeof CHa = 224 B
fif} M= of My = 2% 28 = 55 ¢
Woume ol My =2 x Z2.4 =44 B il
fiiiy Mass-of Hajg) = 1 gram
-
Wolume of (& STP) = E'A. 724 =112 il

4

{iv) Mass of 20z = EJ. B = 32 graan

Widdure o S0 = %x 224=112H
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6.

s,

Zol.

An=,

s,

Sol.

Ans,

Ans,

Sal.

11

s,

Sol.

The magoedic movement of ainion is 4.2 B.KM. Find he numbér of ohgaired eRction is
4

rEn+2) =d4.8
Lipisn Soiying we gelt = 4

The refaliorhip betwesen radius of @itice [rFamd edoes lengih'a’ of an FCE and BOC is ¢

(1) =2z =ad JFa = & (2} =2t 8 anf5 =~ dr
2
(Ayadd =drBa=2¢ Id:u-‘[-;:?-a—&@
) i
F.O.C. Bd2 =dr b BOC Wia = dr
&
e e
42

Assertion : isolopes af hydrogan haee differend plysical properties

Reaxsen @ |solopes of hydrogen iave very lange-mass dilsianos.

(1) Boln Asserfion and Reason dre rue aod Reason i8 e coned] axplarmslion of Asserlion.
i2) Balh Assertion and Reason are rue bul Resson = ol comec] explanalion of Assarion.
(3) Assertion is bue bul Reason i falge.

() Aszeriion and Reason ae false:

{1
I=ofopes ol hydrogen dilsrance in phy=cil propeies due @i amge mass delemnce.

How many slecingns ane gained by M0 in srangly alkalire reaction
{1)
-, IH
e = MpO; rhiny-

Cor=ider 8 miziure of 2 moles of oxygen & 4 mikes of reon gés negiecl any vilralional degres ol resdom

Thie 1olal imlermal enesgy of e syslem is XET. The valie of X s
[Asume E=OaLT = 0 k]

111
GHH‘-‘ -_--rITII i -rl'h- -I.I:_ J
O 3 2 5
o 3

M 3

|
E —Er-'HT

E|._.|- -E.-_-, ILI'I.
_E'.'mT-E w i I T
b 2
11 RT

Fen 3 feid coder raachon, T e vidlues of =.-i'5 s [ ke e valoe of IP?I will ba #l. Find
{3)

Far first onder reaction
I.;""; o EI-’IIH;

Sooxoe 3 AN,
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iz Has many of the Tolméing have Daxd hoe g Xefa, Ny, ©0D, OO NG, HD.

fng. (3)
Sol. Molecule/Species Structure Mo. of loise pairs
F F
(1) XeFa ;?Lﬂ_'i: 2
F El F
(2) My M =h 2
(3} CO i e 2
{4) COx FO=C=0
(5} WO Ly =0 3
I:ll
(Eh Hax 2
F'/ T~
13 Muimber of anda@ermic rescion{a | among lalkesing |
(13 2HCHa) v Hz{gh + Claii) (2} H=O{1 « HaC¥l
i3} Dezaohilian of WMHCI 4 1:0g) k 2lig)
(5§ Cisy+ Oafgl -+ COzig)
Ans. {d)

S Burnirsy of easbon & esotlvermio, &l alher. & andolfesmic

14. Duiing blesding Bom & cul, FeChis used 10 slop blesdngas -
(1} CF cause coagudalion
(2) Fesric bon caise coagquiaion
(3} Felly ilule blead
(4} Becding does. nol siop
ans. (2§
Sol. Bhod isa negathee dasge osllond henoe cation of FeCla & Fe' wil acl as coapualion sgeod.

15 Comect edet of maimehic mament of the ghven compound s
(@b N[ CC ] i) [COF=P-
(e} [FeFs]™ {d} [Cr{H=0 e}
(hcxB=dea 2lcrard=h
[(Bhb>a>d>g #bh=d>e>=3
Ana. 1)
Bal. [4) [NilCCh]
DN =0 I
I |
k=0
(bh [CoFsF
DN ol Co = 43
Cod=3dt i 8]

u= 24 BM

ic] [FeFs]*
O.Mal Fé = &3

Fed = 345050, &)

= 35 BM
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16.

Ans.
Sol.

17.

A,

14.

A,

149.

A,

Sl

{d) [SrHOR]
CLN of Cr = 43

A1 1
- S 1), o0

=5 BN
g0 order ol magiheiss monsenl
crhb=g=a

Whaler of crystallizalion m sodz a8 and washmg sods 5 respectael
ki d Ly

(1) 0,10 {2110.0
(300 14101
1)

Sida sl o W00
Whashing Soda -« NagC0, - 10H0

Dleslicize balagioe ol D0z @nd O @ jol distarbed by

i1} Pholosyniesss 12 Dalareskstion
(3 Burming of osal {4} Summing of pefrokEum
{1}

Il is Gl (Phalogyrilhiesis m s nalursl phenamenon)

Thie process 1o making =oap from fal = caled

(1) Baponificalian [2] Elecliotysis
(3 Salvay prodess i) Habér process
{1}

Formadion ol soap by P alkabne nydoalysis of siroclure T8l = cafied saponificalion.

Thes copacd sirischires of Bura-5S b

HAC-OH-CH-CH=CH-CHE . -
| FCHa-CH=CH-CHe u:l-h—n:rHj
n

i1 I‘EJI éﬂ

il ﬂIZ.'-'I'h

l ",
(3 F:H:-I::-EH-EI-Ll [4) .—I.'.:H:—Et-i::I-I-{:HEl
L n

)
He=CH: CHy-CHeCH-CH-CH-CF

Iz
CHi=CH-CH=CHE i e @
1,5 betadene

Shyrere
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sl

The corect edér of aeidke strengh Tor The given compoursd s

CHH H i
CH,OH
g1}

WO () CH:

i ()
R EN R ER N (N
RPN () 1= Lo I > 11

fns. (1)

Sol. Geesler ik stadilly of conjogale bats, greaier Be acidlly. For phaitdals, -6 group [-%0) prasend &l pars
poslion stabilize e corugate base, wheateas hyperoonjugalion of -CH; decragsss e stabaSty.

21 A unknoatn onganic compound B eaked with Riming HNO=The eaclion mikiug B ireated wilh &g
BaCt: solulion whech gives while precipilale. Tdenlify the urknown ofganic comgaund.

(1} Phergdalaiine (2] P rofine
(3 Cysiing 4] Wane
Ans. {3}
Sl CySising has 'S, and 5 wilh Torming HMNOD gel oxkdised b S0 jon, whech e while ppl wilh BeCi:
Cy=leans
HS — CH; — II:H—EEID'
hiHy
X2, Whicl ol S follossng s 1 el hydride ﬂJ'EIII}' i of cabocElions
CHa
I e ok
iah I'l:-‘:'..-"lﬂ‘l—||: —C ] HsGa- ‘I: = {aHs
iCHh TaH=

i [>_’:_<] {d) HaC - G - Ty
[ R} é. I:I:Ih

fns. faxd>=hb=>g)
Sal. Gredler he dide ailinlly, lesser Be dabilily of cabocaiion

2

; LiAiH:

o

o8
. . _ + . [ T ",
i1} “—”f\'ﬂ\g; (2 H'“mi]!f i3 H'HAAL,H i#) iy

Ans. {1}
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% H:Hi'/l\r\ LisH r-l_--".r’"‘""JL‘"‘
K

oH

LiAIH,; reducad amile & drmine and Eelone 1o acoh

AlCh
4.
B E |

H=Co H=20
(1h (2}

Qe & H

fins.

CHa



